Advanced Algebra





            Name___________________

1.4 Worksheet



              

Date _________ Pd _____

Solve each inequality and graph the solutions on a number line.  NO CALCULATOR.

1.  
[image: image1.emf]-O9<4x+3=<11
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2.  
[image: image2.emf]16x <32 or —-5x<-40
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3.  
[image: image3.emf]6(x+2)>24 or 5x+10<15
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4.  
[image: image4.emf]14>3x-1=-10
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5.  
[image: image5.emf]9x <33 and -4x<12
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6. 
[image: image6.emf]2(x-1)<-4or2(x-1)=4
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7.  
[image: image7.emf]3x>30r9x <54
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8.  
[image: image8.emf]—2(5+3y) <-21
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9.  
[image: image9.emf]4<1-3x<7
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10. 
[image: image10.emf]3[4x—(2x— 7)] <2(3x-5)









34

x

-

2

x

-

7

( )

é

ë

ù

û

<

23

x

-

5

( )



_1374581126.unknown

_1374583344.unknown

_1374742744.unknown

_1374742972.unknown

_1374583345.unknown

_1374583343.unknown

_1374583342.unknown

_1374580589.unknown

_1374580644.unknown

_1374580442.unknown

